Construction division. Advice for giving credit to contractors/suppliers.

		15		Date Regi	- site	bills	02	0-	1/207	O
Company Name:		PL	Site:		Marie Charles Marie Charles Control	May	·cl	iwer la	Tow	
Name of Contractor	-	-	Arms Rue				111100	1 1	WOI 10	\exists
Nature of work		CIVI		YL		m(c)				-
Work done	From D			1/2		To Date	28	1.1.		\dashv
Sl. Villa/Flat/block no.	o. Qty	у.	Rate		Units				Contractor	re
1. North site stree	-								oill no	3
2. Brown work 6				,	- " "					
3. cc mok but	0	78 2h	lo	-	sfr	-	80 20			
4. Willy	,	780 SH	le	o/r	34	78	00=1			
5. West side You	t							_		
6. Brick wall L		46 Sp		1	771-			\perp		
7. Plaston TATI CON	, , ,			<u> -</u>	SJF		160=6			
8. Netry II LOW		0675ft			sp	14;	14,938=0			
9. Distults of 5% Add	hay o	120 SFF	4	.	sft	1	880>			
10. With m total	-	-				2	218=1	Ю		
11. T	otal:					lal	576=	1		
Bill required	YES			GST	oill req				10	4
Measurement &	Requi				-		□ YES		3	4
estimate sheet:		t required		Measurement & estimate sheet:			& ∃Enclose □ Not enc		- I	
PO/WO no.			PO/WO date:		e:	I TOU OIN		oscu	1	
Remarks:										+
		g.					-	٠		+
										-
* * * * * * * * * * * * * * * * * * * *						-				-
								-		
Approved by Project Manager Approved by Design Team Approve				roved h	v M	D				
		Date:	y = 15-Bit 1 culli			Date	Approved by M.D.			
Sign: Sign:			On pariety			-	-			
lotas: 1 This advise must be		Sign:					1			

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor sign: = N. DHARMA RAD

ESTIMATI	E SHEET						
Company	Name:	MPL					
Project:		May Flower Platinum					
Work Des	cription:	Brick work north store room, plastering at we	st side compour	nd wall			
Contractor	Name:	N. Dharma Rao					
Date:		29-06-2020					
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total
	Brick Work for north side store, lower ce						
1	Brick Work for north side	Brickwork 6 "	828	sft	10	8280	
	store						
2	CC work	CC between walls	780	sft	10	7800	
3	Brick work Wall 4 " west side road	Brick work Wall 4 "	946	sft	10	9460	
4	Plastering work external at west side road	I & II coat plastering external	1067		14	14938	
	labour quarters	II coat plastering	970	sft	4	3880	
	For Piffed and to a formula 5 0/ and dead						44358
	For Diffulculty of work 5 % added	+					2218
							46576
	Amount in words : Fourty Six Thousand	Five Hundred and Seventy Six upees only				·	

MEASUR	EMENT SHEET								
Company	Name:	MPL					Prepared by:	S.V.Subb	areddy
Project:		May Flower Platinum							
Work Des	cription:	Brick work north store room, plastering	at west side co	mpound w	all				
Contracto	r Name:	N. Dharma Rao							
Date:		02-07-2020							
			Α	В	C				
S.No	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Total Head
	Brick work north store room, plast	ering at west side compound wall							
•	Brick Work for north side	Brickwork 6 "	104	1.00	7.50	1	780		
	store		3	2.00	1.00	8	48	sft	
									828
	2 CC work	CC between walls	104	1.00	7.50	1	780	sft	
									780
	B Brick work Wall 6 " west side road	Brick work Wall 4 "	97	1.00	8.75	1	849	sft	
			97	1.00	1.00	1		sft	
									946
	Plastering work external at west side	I & II coat plastering external	97	1.00	11.00	1	1067	'sft	
	labour quarters								1067
		II coat plastering	97	1.00	10.00	1	970	sft	
									970

Bill for Consumables

N. Dharma Rao No 3-1-155/1, Mallapur old basthi, Hyderabad

Date:02-07-2020

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur

Type of Work: Brick work north store room, plastering at west side

compound wall

Towards: Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Brick work north store	
	room, plastering at west side compound wall	Rs.9,316=00
	Total amount =Rs.46,576=00	
	Work done from date : 05-07-2020 to 28-07-2020	

Amount in words: Nine Thousand Three Hundred and Sixteen rupees only.

Bill for Equipment Allowance

N. Dharma Rao No 3-1-155/1, Mallapur old basthi, Hyderabad

Date:02-07-2020

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur

Type of Work: Brick work north store room, plastering at west side

compound wall

Towards: Allowance for Equipments

S No.	Description	Amount
1.	Brief description of work done: Brick work north store	
	room, plastering at west side compound wall	Rs.18,630=00
	Total amount =Rs.46,576=00	
	Work done from date : 05-07-2020 to 28-07-2020	

Amount in words: Eighteen Thousand Six Hundred and Thirty rupees only.

Sign:	
\sim	

Bill for Labour charges

N. Dharma Rao No 3-1-155/1, Mallapur old basthi, Hyderabad

Date:02-07-2020

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur

Type of Work: Brick work north store room, plastering at west side

compound wall

Towards: Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Brick work north store	
	room, plastering at west side compound wall	Rs.18,630=00
	Total amount =Rs.46,576=00	
	Work done from date : 05-07-2020 to 28-07-2020	

Amount in words: Eighteen Thousand Six Hundred and Thirty rupees only.

Sign:	
_	